cm
AB+BC+CD+DA

10,000

10,000

1

(AE+FB+BG+HC+CI+JD+DK+LA)
1
X

X

E
J
(%)

X T

cm
cm

cm
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N/mm?
5.7 4.5 7.2 0.6 2.3
5.3 4.2 6.9 0.5 2.0
4.9 3.8 6.5 0.5 1.5
4.5 3.5 5.7 0.5 1.5
6.9 6.2 9.9 1.1 3.1
5.4 4.6 7.6 0.8 2.8
89 H12 1452 H13 1024
KN/mm? )
9.0
8.0
7.0
10.0
8.0
P339 2002
+ 100mm
+ 100mm
200mm
100mm
+ 05
200mm
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a 1.5 2.33m
a a a 2 (ys a Y
a 0.30m
( @  a
a a( a)/8 4.71x (0.3)°/8 0.053kN m
a a a/2 4.71x 0.3/2=0.71kN

" ") 4.71KN/m

oa a/ 161kN/m* 5.7x 10°
Ta 4 a/3 a 53kN/m® 0.5x 10°

a 2 0.30m
a 3.5 2.03m
a a a 2 (ys a y " " ) 4.18kN/m
a 0.90m
( a Q)]

a a( a)/8 4.18x (0.9)°/8 0.42kN m
a a af2 4.24x 0.9/2=1.88kN

o a a/ 1269kN/m*> 5.7x 10°
Ta 4 a/3 a 142kN/m* 0.5x 10°

0.3
0.9
( b
b b b wlys b y " "
b (kN/m)
b (m
b (kN/m?)
b (m)
1 (o b)
ob b b/ b
b (m)
b (m)
b 2 0.30m
b 2.40m
b b b 2 (ys b y © " ) 4.83kN/m
b 0.30m
1 ob b b/ b 82kN/m?
ob 82kN/m* 3.5x 10°
b 2 0.30m
b 3 2.10m
b b b 2 (ys b y " " ) 4.30kN/m
b 0.90m
1 ob bx b/ b 219kN/m*

o b 219kN/m* 3.5x 10°
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3.5kN/m? 5kN/

6.9% 10°kN/m?
0.5% 10°kN/m?
4.2%x 10°kN/m?
8.0x 10°kN/m?

m2

2 0.28m 1.10m
m /4 6.16x 107°m
2 m /64 3.02x 10”m*
m /32 2.15x 107w
0.12m
m /4 1.13x 107m’
2 m /64 1.02x 10°m’
m %32 1.70x 10™m°
6cm
(kN/m)
0.06x 1.0x 1.0x 8 0.480 1.0m
0.2x 0.2x 1.0x 8 0.320
1.13x 10°x (1/0.12)x 1.0x 8 0.753 1.0m
6.16x 10°x 1x 8 0.493 1
2.05(2.046)
3.5x 0.8x 1.0 2.80 0.8m
4.85
(kN/m)
0.06x 0.12x 1.0x 8 0.0576 0.12m
0.20x 0.20x 0.12x 8 0.0384
1.13x 107%x 8 0.0904 1
0.20(0.1864)
5x 0.12x 0.8 0.50(0.48) 0.12m
0.70
< 5.00 >
6cm
12cm
_— -
Txxxxxxx«xx xxxxxxxxxxT
'.-.‘.--g'..: 26em :.-.‘;..4'..'
P 4.50 R
= >
< 2.00 >
23 i: 1.60 :i 320
0.06—0208 [ ] 3 6em
O.1ZE3 O @\\ 126m
< O.45=|: 1.10 >le O.45= 26cm
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4 _85kN/m
4.5m 8.0x 10°kN/m?

2 /8 12.28kN m
o / 5.71x 10°kN/m’

/2 10.91kN
T 4 /3 2.36x 10°kN/m?
5 /384 0.0107m

o 5.71x 10° 6.9x 10°
T 2.36x 10° 0.5x 10°
0.0107 /400 0.011

0.70kN/m
8.0x 10°kN/m?
1.10m

2 /8 0.106kN m
o / 6.24x 10°kN/m’
/2 0.385kN
T 4 /3 4.54% 10'kN/m’

0 6.24x 10° 6.9x 10°
T 4.54x 10" 0.5% 10°
0.45m)

2 /2 0.071kN m
o / 4.18x 10°kN/m’
0.315kN
T 4 /3 3.72x 10'kN/m?

o 4.18x 10° 6.9x 10°
T 3.72x 10 0.5x 10°
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1998
12 8 1841
H13.11.30 H14.3.1
17

2002
42
13

604.2
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